T—A
O K &H e 5 R E J7 M 7E 5 R
O4FRME G % 3 4FH)
bWk o (SO FHIMHE)
N 1 BRES 1REHER . 1@’91@75\ A
E | AHBIE| £ F | 0.1ppm# | 0.04ppm % | 1 BfEE | ARSED QBN LEGLT O b8
BE B A % ¥ B | BirBEEC BAtANL NERE PUBAE 0. 04ppm % R
E EE] EE] BikILORE
(B) (ppm)  |(BFRD|[ ) | (B) | (®) | (opm) | (ppm) | FHx - £O | (EHO-KERY)
R1 364 0. 001 0 (0.0 O 0.0 [0.068| 0.004 @) O
¥$E R2 364 0.001 0 (0.0 O 0.0]0.059| 0.003 @) @)
R3 365 0.000 0 (0.0 O 0.0 10.018| 0.002 @) O
_ .| R1 365 0. 001 0 (0.0 O 0.0 0.071] 0.005 @) O
;;gi R2 365 0.001 0 (0.0 O 0.0]0.061| 0.003 @) @)
R3 364 0.000 0 (0.0 O 0.0 10.020| 0.002 @) O
—[BbEF (NO : FR1fH)
F BHxhBE 1 BFREE FHEDO1BAEY
HER B % AR FrOE OBEE | 50 98%iE
& (82) (FFRE) (ppm) (p pm) (p pm)
R1 363 8,712 0.001 0.054 0.005
ﬁf_.:?_qg R2 281 6,776 0.001 0.034 0.004
R3 361 8,681 0.001 0.036 0.003
R1 364 8,717 0.002 0.055 0.008
AZ—BHE7
A% R2 360 8,613 0. 001 0.043 0.005
R3 356 8,602 0.001 0.082 0.007




T E#HE (NOs : HFHMHE)

1RFYEN 1REHER FRD .
& 0. 06ppm % |0. O4ppm KLt| 1 BEFEIE | 1 BT REEE
. B E B FEHIE . o & D
B E B #ikA%L |0. 06ppm UT| DR =& E®D )
E EE NBHLT0FA 989% fE
(¥R (ppm) B) | G | ) | O (ppm) (ppm) | (EHO-KEHX)
R1 8,712 0.007 0 [0.0] 0 (0.0 0.043 0.016 @)
g??« R2 6,776 0.007 0 [0.0] O (0.0 0.037 0.016 @)
R3 8,681 0.007 0 (0.0 O (0.0 0. 041 0.014 @)
_ . | R1 8,711 0. 006 0 [0.0] 0 (0.0 0.067 0.015 @)
;;é; R2 8,613 0. 006 0 [0.0] 0 (0.0 0.039 0.016 @)
R3 8,602 0.007 0 (0.0 O (0.0 0.048 0.014 @)
FERLIRME (S PM @ F[#1{H)
‘ \ BT
| AR | R | EMO
HHAEE | & F [0.20m/ m*|0. 10w/ m° 1 B o i
| am o |emeemae | e | O mo oy | o | EORR
BER . . B 1= 1B B 5t il 2 BULER | (REMEE)
E LECt0%-8
(B) (mg/m) | (BE) | (o) | (B) | (%) | (mg/m) | (mg/m) | (§x -8O) |(ERO-KERX)
- R1 364 0.018 0 [(0.0] O |0.0] 0.109 0.042 O @)
th 8 R2 360 0.016 0 |00 0 |0.0] O.116 0. 041 @) @)
R3 361 0.015 0 |0.0] 0 |0.0] 0.069 0. 031 (@) @)
_ | R1 362 0.017 0 (0.0] O |0.0] 0.137 0. 040 O @)
;;gi R2 361 0.015 0 [(0.0] O |0.0] 0.151 0.042 O @)
R3 358 0.013 0 |00 O (0.0 0.108 0.028 @) @)
R1 362 0.024 0 [0.0] O |0.0] 0.159 0.049 @) @)
iig R2 361 0.023 1 0.0 0O |0.0| 0.246 0.054 @) @)
R3 361 0.016 0 |0.0] 0 0.0 0.104 | 0.034 @) @)
. R1 362 0.021 0 [(0.0] O |0.0| 0.154 0.049 @) @)
;$§ R2 360 0.019 0 |00 O |0.0] 0.143 0.046 @) @)
R3 361 0.016 1 0.0 0 [0.0] 0.296 0.033 @) @)




WoNRLFIRmE (PM2. 5 4EH1H)
X HIEHIED EEHE
HMAE | &£ T |RISEN35. 0ur/m%| 1 BSRIED ROET
Bl I ¥ fE gitencions | mEm | ohE £ DLR
> AAIC [ B S .
8 R i > (BT
E (B) (Lg/m) ) (%) (pg/m?) (ug/m3) (EHO - #Ef )
R1 362 10. 8 0 0.0 65 27.1 O
o™
th &5 4% R2 353 10.2 2 0.6 86 23.0 O
R3 361 11.4 0 0.0 68 26.3 O
R1 354 12.7 3 0.8 135 31.9 O
A xHh
th 2 R2 361 11.4 3 0.8 155 27. 4 O
R3 361 9.8 0 0.0 92 22. 4 O
= R1 362 13.6 8 2.2 122 35.3 X
;$$§ R2 361 11.8 4 1.1 117 29.7 O
R3 357 10. 4 0 0.0 204 24.2 O
ik A X F b (0 x AR
. Eljli E‘ 'F_'E.l? BEO 1 BEEN BEN 1 H':'ffaiﬂﬁf)‘\\ R E D %ﬁsﬁo) H& T
Al B BITE | B 5 |0. O6ppm% | 0. 12ppmit| 1RFREIME | = 1 BREHE OB
Vi ] . X
= B& | B M | 8ALERCBRY | OBUCEEY NDESE | DEEHIE
=1 (B (KR) (B) | (@) | (B) | (BRD) (ppm) (ppm) (ERO - ®EH x)
P R1 366 5,479 79 481 0 0 0.107 0.048 X
th & g R2 365 5,458 66 354 0 0 0. 091 0.047 X
R3 | 365 5,466 72 367 0 0 0.107 0.048 X
R1 366 5,474 70 429 0 0 0.108 0.046 X
Z— 3 E
sk |R2| 364 | 5441 | 49 | 284 | 0 | 0 0. 094 0. 045 x
R3 | 365 5,461 55 285 0 0 0.103 0. 045 X
R1 366 5,479 73 436 0 0 0.107 0. 049 X
HEH
i 2 g R2 | 365 5,464 74 406 0 0 0.093 0. 049 X
X
R3 365 5, 459 73 430 0 0 0. 101 0.046 X
= R1 366 5,477 79 431 0 0 0.102 0.047 X
;_.u?ﬁ*ﬁ R2 | 365 5,464 64 334 0 0 0.088 0.047 X
R3 365 5,466 80 426 0 0 0.109 0. 050 X

s

E) FRO 1 BEEE 1T FERICDRES 1 REREO 1 HEYE
2 % BAME-AEMO 1 B EHEOEH N LD 2% OHHNICH D H O EBRWTZH O K EE
98% M- FEMD 1 HEHMEOENEI> DD 8% DEHNICH D DD 9 b O EE
B 5RND 2 0FFETE VD




@ H FifE

“ERIELNES(SO:: AMIE)

HARE : 202144 4 ~ 2022431

BIER BIEIEB 48 | 5A | 6A | 7TA | 8B | 9A |1W0A |11A |12R | 1B | 2B | 3R | &&t
R AR AMBEB# 30 31 30 31 31 30 31 30 31 31 28 31l 365
B 7E BFfE 717| 742 718| 738 737\ 717 742 718| 734| 739 666 741| 8709
4B (ppm) 0.001 0| 0.001 0 0 0| 0.001 0| 0.001 0| 0.001| 0.001
1BERAAY0.1ppmZE B X f=F fE1 3K 0 0 0 0 0 0 0 0 0 0 0 0
1B FEEA0.04ppmZ B A -AH 0 0 0 0 0 0 0 0 0 0 0 0
185 EE D &= E(ppm) 0.004| 0.01] 0.018| 0.003| 0.005| 0.004| 0.015| 0.018| 0.014| 0.004| 0.006]| 0.009
1B BN i E(ppm) 0.002| 0.002| 0.003| 0.001| 0.001| 0.001| 0.004| 0.003| 0.003| 0.001| 0.002| 0.002
A—BET7ABXK|EMAEBH 30 31 29 31 31 30 31 30 31 31 28 31| 364
B 7E B 718 742| 704| 738 740 718| 742| 713| 735 742 670 741] 8703
T 1B (ppm) 0.001 0| 0.001 0 0 0| 0.001 0| 0.001 0| 0.001| 0.001
185 A30.1ppm%Z 4B 2 1= B fE1 4 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.04ppmZEEZ B 0 0 0 0 0 0 0 0 0 0 0 0
185 E D &= = B (ppm) 0.005 0.009] 0.011| 0.004| 0.005| 0.004| 0.02| 0.017| 0.012| 0.004| 0.005| 0.009
1B FEHED &S E(ppm) 0.002| 0.002| 0.002| 0.001| 0.001| 0.001| 0.005 0.003| 0.002| 0.001| 0.001| 0.002




—EiE =R (NO: ARH{E)

HARE : 202144 § ~ 20224 3R

BIE B AIEIEE 4 | 5B | 68 | 7R | 88 | 9A |10A | 11A | 12R | 1A | 2R | 38 | R&&t
R AR AMBEB# 29 31 30 31 30| 30 31 30 29 31 28 31| 361
B 7E BFfE 710 742| 718| 740 727 717 7421 7171 715| 742 670 741| 8681
4B (ppm) 0 0 0 0| 0.001| 0 | 0.001| 0.001| 0.002| 0.001| 0.001| 0.001
185 EE D £ = B (ppm) 0.004| 0.006/ 0.004| 0.005| 0.009| 0.005| 0.01| 0.031| 0.036] 0.02| 0.022| 0.014
1B EHED RS E(ppm) 0.001| 0.001| 0.001| 0.001| 0.001| 0.001 | 0.002| 0.004| 0.012| 0.003| 0.003| 0.001
A—BET7ABXK|EMAEBH 30 28 30 29 30 30 31 29 29 31 28 31| 356
B 7E B 718 685 718| 718 723 717 742 714| 714 742 670 741] 8602
T 1B (ppm) 0 0 0 0| 0.003| 0.002| 0.001| 0.001| 0.002| 0.001| 0.001| 0.001
185 fEE D &= = B (ppm) 0.008| 0.008| 0.017| 0.016| 0.082| 0.066| 0.011| 0.031| 0.036| 0.023| 0.031| 0.026
1B HED &S E(ppm) 0.001| 0.001| 0.001| 0.002 0.018| 0.012| 0.002| 0.005| 0.006| 0.004| 0.006| 0.002




“EEZEZR (NO2: ARElE)

HARE : 202144 3 ~ 20224 3R

BIE B AIEIEE 4 | 5A | 6A | 7TA | 8A | 9A |1W0A | 1MA |12A | 1A | 2B | 3A | &&t
R AR AMBEB# 29 31 30 31 30| 30 31 30 29 31 28 31| 361
B 7E BFfE 710 742| 718| 740 727 717 7421 717| 715| 742 670 741| 8681
14 {iE (ppm) 0.006| 0.005| 0.006| 0.003| 0.004| 0.005| 0.006| 0.008| 0.01| 0.009| 0.008| 0.008
185 fE{E D &% = B (ppm) 0.018| 0.019| 0.015| 0.012| 0.012( 0.021 | 0.022| 0.028| 0.041| 0.032| 0.034| 0.028
1BEHEDRESE(ppm) 0.01| 0.011| 0.008| 0.006/ 0.007| 0.008 | 0.011| 0.014| 0.023| 0.014| 0.014| 0.016
1851 H30.2ppm%Z 8 2 - BRI 5 0 0 0 0 o o 0 0 0 0 0 0 0
187 RS A%0.1ppm L £ 0.2ppm EL T D B RS 3K 0 0 0 0 0 © 0 0 0 0 0 0 0
1B FHEH0.06ppmZEEZ B 0 0 0 0 o o 0 0 0 0 0 0 0
1 H F4{EHY0.04ppm L _E£0.06ppm LT D B £ 0 0 0 0 of o 0 0 0 0 0 0 0
A—BET ADAEBH 30 28 30 29 30 30 31 29 29 31 28 31| 356
ABXK B € BF A 718 685| 718 718 723| 717 742 714| 714| 742 670| 741| 8602
14 {iE(ppm) 0.005| 0.003| 0.004| 0.003| 0.005( 0.006| 0.007| 0.01] 0.01| 0.009 0.009| 0.008
18FfEE D &= = B (ppm) 0.02| 0.018| 0.018| 0.014| 0.046| 0.048| 0.018| 0.03| 0.035| 0.034| 0.029| 0.027
1B HED &S E(ppm) 0.01| 0.009| 0.006 0.007| 0.012| 0.01 0.011]| 0.018| 0.018[ 0.014| 0.014| 0.017
1851 A30.2ppm% B 2 1= B E1 4K 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS HY0.1ppm LL_E£0.2ppm BL T D B RS 51 0 0 0 0 0 0 0 0 0 0 0 0 0
1B #{EA0.06ppmZE B Z 1= B 0 0 0 0 0 0 0 0 0 0 0 0 0
18 FHEHY0.04ppm L _E£0.06ppm LT D H £4 0 0 0 0 0 0 0 0 0 0 0 0 0




=Rt Y (NOx: AME{E)

HARE : 202144 5 ~ 20224 3R

BIE B AIEIEE 4 | 5B | 68 | 7R | 88 | 9A |10A | 11A | 12R | 1A | 2R | 38 | R&&t
R AR AMBEB# 29 31 30 31 30| 30 31 30 29 31 28 31| 361
B 7E BFfE 710 742| 718| 740 727 717 7421 7171 715| 742 670 741| 8681
4B (ppm) 0.006| 0.005| 0.006| 0.004| 0.004| 0.006 | 0.006| 0.009| 0.012| 0.01| 0.009| 0.008
185 fE{E D &% = B (ppm) 0.021| 0.024| 0.018| 0.013| 0.017| 0.022 | 0.023| 0.054| 0.07| 0.045| 0.048| 0.037
A {ED &= E(ppm) 0.01| 0.011| 0.008| 0.006| 0.007| 0.01 | 0.012| 0.018| 0.035| 0.018| 0.017| 0.017
ATE NO2/(NO+NO2) (%) 93.6| 94.8| 943| 879 87.3| 92 91.9 90| 83.4| 89.8| 903 925
A—BETABXK|EHBIEBH 30 28 30 29 30 30 31 29 29 31 28 31| 356
B 7€ B Pl 718| 685 718 718| 723| 717 742| 714| 714| 742 670| 741| 8602
B (ppm) 0.006| 0.003| 0.004| 0.003| 0.008| 0.008| 0.008| 0.011| 0.012 0.011| 0.01| 0.009
185 EE D &= E(ppm) 0.026 0.021| 0.033| 0.03| 0.111]| 0.104| 0.027| 0.054| 0.066| 0.046| 0.059| 0.041
A FEH51E D &= B(ppm) 0.011| 0.01] 0.006| 0.008| 0.029| 0.022| 0.012| 0.023| 0.023| 0.018| 0.02| 0.019
AT{E NO2/(NO+NO2) (%) 945 94.7| 942| 848 63.1| 748 915| 896 84 89| 87.2| 915




R INE (SPM : A [E{B)

HARE : 202144 § ~ 2022438

CRIE S BIEIEE 48 | 58 | 68 [ 78 [ 88 [ 98 |wA | 11A [12B [ 1B [ 28 | 38 | #&t
Y R R AR AXAIEBH 30 31 30 29 31 30 31 30 29 31 28 31] 361
I 7 B 719 743 719 714 739 718 743| 719 712 743| 668 742] 8679
154 (mg/m3) 0.015] 0.016] 0.018] 0.013] 0.011| 0.013] 0.014| 0.016] 0.016] 0.015 0.014] 0.017
1B 530.20mg/m3% 48 Z - B RS & 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.10mg/m3% B A - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
1R B O £% = fB(mg/m3) 0.058| 0.063| 0.069] 0.066| 0.049] 0.04| 0.041| 0.046| 0.055| 0.055| 0.053| 0.052
1B FEHED &S E(mg/m3) 0.026] 0.029] 0.034| 0.025[ 0.023| 0.031| 0.027] 0.026] 0.031]| 0.034| 0.031| 0.032
Z—BHETAZX |[EMAEBK 30 31 30 29 31 30 31 27 29 31 28 31] 358
B % B 719 743| 717] 716 742| 719] 743 662| 713] 743| 671] 742] 8630
T {E(mg/m3) 0.014| 0.016] 0.015| 0.011] 0.009] 0.01] 0.011] 0.015| 0.014] 0.013] 0.012] 0.015
1B5RS AY0.20mg/m3% 8 Z T-FF 12K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FE9{EAH0.10mg/m3% B2 - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {E D &= = fE(mg/m3) 0.078| 0.108] 0.06] 0.053] 0.05| 0.04| 0.049] 0.043| 0.052| 0.048[ 0.05| 0.051
1 B EH{ED & E(mg/m3) 0.028] 0.028] 0.032f 0.017[ 0.021] 0.02] 0.02] 0.028] 0.031] 0.032| 0.029[ 0.03
EEFMEE R AXAIEB# 30 31 30 29 31 30 31 30 29 31 28 31] 361
B 7 B 717| 743| 720 715 742| 718| 744 719 713| 743 671 741] 8686
E1{E(mg/m3) 0.017 0.019] 0.018] 0.013[ 0.012| 0.015] 0.017[ 0.018] 0.017] 0.016| 0.016] 0.018
18RS 530.20mg/m3% 48 Z - B RS 5 0 0 0 0 0 0 0 0 0 0 0 0 0
1B EHEN0.10mg/m3% B2 -k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {E D &= fE(mg/m3) 0.104| 0.075| 0.052 0.039| 0.032| 0.055| 0.081| 0.054| 0.066| 0.055| 0.053| 0.062
1B EHED HEfE(mg/m3) 0.035[ 0.036] 0.037] 0.026] 0.022] 0.027] 0.029] 0.03] 0.031] 0.034| 0.037 0.032
=HhER AAIEBH 30 31 30 29 31 30 31 30 29 31 28 31] 361
B % B 718  743] 7201 717 743] 717| 744| 719 714] 743 671 742] 8691
T {E(mg/m3) 0.016] 0.019] 0.017| 0.013] 0.012| 0.014| 0.017| 0017 0.016] 0.015 0.014] 0.017
1EFRIHY0.20mg/m3% 8 Z - fEl 3k 0 0 0 0 0 0 1 0 0 0 0 0 1
1B FEHEH0.10mg/m3% B A - B 0 0 0 0 0 0 0 0 0 0 0 0 0
1R E D &= = fE(mg/m3) 0.091] 0.068] 0.065| 0.034| 0.034| 0.113] 0.296] 0.042| 0.052 0.051| 0.054] 0.049
1B EH{ED &S E(mg/m3) 0.034] 0.042] 0.039 0.025[ 0.018] 0.022| 0.038] 0.029] 0.029] 0.034| 0.029| 0.031




FAEFEAFH R (Ox: ARE)

HARE : 202154 8 ~202253 8

BIE B BIEIEB 48 | 5B | 6A | 7A | 8A | 9B |(10R |11A | 12B | 1A | 2B | 3R | &&t

W AR BREIDBIEB# 30 31 30 31 31 30 31 30 31 31 28 31l 365
B[ D B E B 1 3 450| 465| 450| 465 461 449| 465| 450 465 465| 419| 462| 5466
BRED1E5HEED A F 5 1E(pm) 0.046| 0.047| 0.044| 0.025| 0.024| 0.034| 0.037| 0.031| 0.026( 0.029| 0.032| 0.04
B0 1EFRSEA0.06ppmZE#E % 1= B # 11 16 15 3 1 5 9 5 0 0 0 7 72
B D18 REEHY0.06ppmZ 8 2 T- 815K 63 926 93 6 1 13 45 13 0 0 0 371 367
RS0 1EFRSEAY0.12ppm L LD B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1EFRSEAY0.12ppm LA _E D BERE 2 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 B EE D & = {E(ppm) 0.084| 0.098| 0.107| 0.068| 0.061| 0.076| 0.075| 0.069| 0.05 0.053| 0.059| 0.074
BRE D &= 1 B EE D F ¥ {E(ppm) 0.059| 0.06| 0.062[ 0.037| 0.035| 0.047| 0.053| 0.047| 0.038| 0.041| 0.043| 0.053

A—BET7AEX |BREOAIEBEH 30 31 30 31 31 30 31 30 31 31 28 31l 365
B[ D iR 7E B FE 2 450 465| 450| 463 464| 450| 465 447| 465 465 417| 460| 5461
BRED1EFHEED A F 5 {E(pm) 0.043| 0.045| 0.042| 0.023| 0.02[ 0.03| 0.033| 0.029| 0.023| 0.027| 0.033| 0.037
RS D 1EFRSE H0.06ppmZE B % 1= A 9 15 14 1 0 3 6 1 0 0 1 5 55
RS D 1B RSME AY0.06ppmZ 8 % 1= B R 1 55 89 84 1 0 9 18 2 0 0 4 23] 285
B D1 EAY0.12ppm L E D B £k 0 0 0 0 0 0 0 0 0 0 0 0 0
B D18 EEHY0.12ppm LA L 0D B REI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D185 E1E D £ = {E (ppm) 0.08 0.099| 0.103| 0.063| 0.056| 0.073| 0.072| 0.064| 0.045| 0.05 0.064| 0.067
BRED&E1FE{ED F{E(ppm) 0.057| 0.059| 0.059| 0.034| 0.031| 0.044| 0.049| 0.044| 0.035| 0.04| 0.044| 0.05




FALZAF I (Ox: AREIE)

HARE : 202144 § ~ 20224 3R

BIER BIEIEB 48 | 58 | 6B | 7B [ 88 | 9A |1w0A | 1A |12A | 1B | 2B | 3R | &&t
=R BREIDRIE B 30 31 30 31 31 30 31 30 31 31 28 31] 365
BRE DB TE B3 450 465 450 464| 464| 448 465 450 465| 465| 418 462| 5466
BEID1BRBED B F 51 (ppm) 0.046| 0.047| 0.044| 0.025| 0.023| 0.035| 0.038| 0.032| 0.027| 0.029| 0.037| 0.04
BRE D 1BEMEN0.06ppmZE B A - B 12 17 16 3 1 5 10 8 0 0 1 7 80
B D 18REEAH0.06ppm%Z 8 2 -5 %k 77 118 87 9 3 22 41 29 0 0 5 35| 426
RS D1 EFRSIMEHY0.12ppm L £ D B %K 0 0 0 0 0 0 0 0 0 0 0 0 0
R D18 REMEAHY0.12ppm L £ D BFRE %k 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 REED &= {E(ppm) 0.087| 0.102| 0.109| 0.073| 0.063| 0.077| 0.08| 0.068| 0.05| 0.054| 0.066| 0.072
B D iz 1 R B D F 9B (ppm) 0.061| 0.062| 0.062| 0.038| 0.034| 0.049| 0.057| 0.049| 0.039| 0.042| 0.048| 0.055
HEAdZER |BEOBIEBH 30 31 30 31 31 30 31 30 31 31 28 31] 365
BB DA E B 3K 448| 465| 450 463| 464| 449 463| 450 463 465 418| 461| 5459
BRED18FREED B F191E(ppm) 0.049]| 0.049| 0.045| 0.025| 0.018| 0.009| 0.03| 0.034| 0.029| 0.032| 0.039| 0.041
RS D1 EFRSMEHY0.06ppmZ B Z 1= B 3 14 17 16 4 0 0 4 7 0 0 2 9 73
B D 1B RESEAHY0.06ppm%Z 8 2 -1 51 95| 133| 103 9 0 0 18 25 0 0 8 39] 430
RS D1 EFRSMEAHY0.12ppm L _E D B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
RS D1 BEFRSE HY0.12ppm LAk 0D B RS 4k 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 REED &= {E(ppm) 0.095| 0.101| 0.097| 0.08| 0.053| 0.03| 0.077| 0.068| 0.055| 0.057| 0.068| 0.076
B D i 1 R {E D F 19 1E(ppm) 0.063| 0.063| 0.063| 0.037| 0.029| 0.016| 0.045| 0.049] 0.04| 0.044| 0.05| 0.055




WUNRI IR E (PM2. 5: AREIME)

HARE : 202144 4 ~ 20224 3R

HIE B BIEIER 48 | 5B | 6A | 7B | 8B | 9A |1W0RA |11A |12B | 1A | 2B | 3R | &&t
WP ER ADAEBH 30 31 30 29 31 30 31 30 31 29 28 31| 361
B 7E B 719 742 719 716 740 718| 743| 719| 743| 713| 671 742| 8685
FHE( U g/m3) 108 127| 154| 86| 74| 104| 122 124 11| 116 112 123
1HFEEDRSE( L g/m3) 20.5 22| 308 195| 16.5| 19.6| 245 223 24| 33.1| 274| 268
1HFEEA35 1 g/m3EBA-AH 0 0 0 0 0 0 0 0 0 0 0 0 0
1B HEA3S ( g/m3ZFBZ =E| 5 (%) 00/ 00| o00f 00/ 00/ o00f 00/ 00/ o00f 00 00/ o00] 00
1R B D =& E( U1 g/m3) 37 68 66 37 35 31 51 39 53 57 53 49
=HPER ADATEBH 30 31 30 29 31 30 30 30 31 26 28 31| 357
B 7E B R 718 743| 719| 716 743| 717| 732 719| 743| 665 671 740] 8626
FHE( 1 g/m3) 10.2| 125 136 8 87| 116 118/ 107 102| 96| 114
1BEHEDREE(L g/m3) 176| 248 324| 16.2| 152 157 257 218 22| 30.1| 264| 245
1HFEHEA35 1 g/m3EBA A 0 0 0 0 0 0 0 0 0 0 0 0 0
1B ¥EA3S  g/m3ZE B 1=E| 5 (%) 0 0 0 0 0 0 0 0 0 0 0 of oo
1R EE D& B¢ g/m3) 46 58 63 34 38 32| 204 44 55 53 54 52
AEhAPER  |AATEAHR 30 31 30 29 31 30 31 30 31 29 28 31| 361
B 7E B R 717 743| 719| 715 741 718 743| 719| 740 711| 671 742| 8679
T E( 1 g/m3) 98 122| 132 7| 53| 84| 105 108 10/ 97| 105 108
THEEDREE( 1 g/m3) 195 224 261 179 132 18] 217 216 21.1| 279 30 21.8
1HFEHEA35 1 g/m3EBA A 0 0 0 0 0 0 0 0 0 0 0 0
1B FHEA35 y g/ m3FHBZ1-E| & (%) 0of o0of o0o0f 00/ 00/ o00f 00/ o00f 00 00/ 00/ 00 00
1R REED = EE( 1 g/m3) 47 53 43 32 28 35 92 42 57 64 57 68




(2) AFRKIGGERERS R (N 3 S 222 RIS THIE)

HEwE FFHE IR ST HfL
He/IME R RAE (HREHE)

NPy 0.63 0.28 0.98 3 g/
KNy ZmmxFLw 0. 029 (0. 005) 0. 061 130 u g/m’
FhIzmRTF L 0. 080 0.024 0.15 200 wg/m’
vruniAgs 0.97 0. 42 2.2 150 ug/m
FrUa=hUL 0.011 <0. 004 0. 026 2 wg/m’
ik =1E ) ~— 0.010 <0. 0017 0. 029 «10) wg/m
VA=2=F: VIV 0.14 0.010 0.18 (18) g/m
,2-v/7maux i 0.13 0.13 0. 30 (1. 6) 1 g/
KEBR O DALEY 1.5 0. 56 2.0 (40) ng/m’
=y 7 LAY 2.7 0. 62 6.8 (25) ng/m’
E R OL DAY 0.83 0.16 2.2 (6) ng/m’
1,3-F 2Ty 0. 044 0. 025 0. 097 (2. 5) wg/m’
~ U H RO DALEY 12 4.0 28 (140) ng/m’
TERTATFE R 1.4 0. 59 2.4 (120) u g/m*
AL AT 1.2 1.0 1.5 (94 ug/m
7 v AR OEDILEY 3.5 (1.0) 6.3 i

S v MMEA Y 0.048 <0. 004 0.14 I
e A 0. 080 0.028 0.14 X
LTy 3.5 1.4 6.0 eyl

Y Y AR OFEOILE Y 0. 024 (0.007) 0. 062 o
~yv [a] ELv 0.12 0.015 0.29 eyl

RNLVAT AT E R 2.5 0. 64 4.8 TR

OWVTINOWE LA 12 [BIOH|E

XOE T FRAEA R H FIRMELL B (Bfi|E) & &AL

MR T BRAEA 1 (<RRHFIRME) & KRD




